IMREFERREFOREDSRICHRIEE(ED)

s = T 5 7R 25 306 2
£ REHH FRE29%F3H28H
BARZRDEH SERI D ERE
& BT & B I -B-0495(1311000495)
(3 2l % THT
Pt £ ih =AARAERAT TH
A OE O B =R AL B £ KRBT

#,

{31 & H(s=1:200,000)

OB, B ERRDERZEF T, REHEITOHMEHR 20000008 K ER) R U EFHFZRI250002EH L=t D THSH, (KBES T281F#E. 5F8105)



ITHKEFZERREFDREEDERICFELINEEZEN2)

ETES

B R & r 53062

SRFERH

ER29%E3H28H

TR

REFE

BEES

1 -E3-0495(1311000495)|

G

EED

SEE AR BLm A T NE

P O

AEEr
S
TET
BEOEZTNDOHD T ORI (LW REFERRE)

TEZEDFEH)SIAIMUTOBE
ELLVEE®D TEZEDRBEIZLDHAI100kN/MEBZ BXiE

12
K%

j

s U il

s

BEThOBDLH a8 2
SEw (i |LEEOEROBEAIMEBL SRS

FERE R X )

ThLNDRE

HEHT AR

274 -
I\ a4t E

i)
=
Jm



ITHKEFZERREFDREEDERICFREIKE(ZEDNI)

ErEE = P £ o1~ 55 3067
Ex%& AR Tk 28%3H 280
E 18 51 b 0) fu B] s | 1 H-040513110004%)] A% TE [ miiit eHR A AR T N
LEFOBILVRENOL EMIHRAT 5L | LEFORII-SIREMOW LRI AT 5L TEEOBBICLYRENON ERIHRTHE | LREOREILYRENO® EEIIERT L
BEShDN BESND BEEID BEEShDAN
EFO B A N o LEFO BB o
s | thanomm  |TEEOEBROEEN | hpnomy e | ehasoms  ([TEEOEROBEN | pnpsomy
RETARORER [1o0un/m %82 5K i RETRROEM |100N/m% 187 5K 1
NORES| tEE | HOAES| tEE | HOAES| tEEZ | HOXES | tEE NORES | +E%E | H0okEE| trRE | H0XES| 1EZ |HOAEE| tE%
D3EBA| 0EE |0ILBKX| oBx |03BBA| o5 |03BBA| 0B D3EBA| DES |DSERKX| oBx |03BBRA| o |03%BBA| 0B
L0 (R 0) LD DED LD LD L0 (R 0)
(kN/m?) (m) (kN/m?) (m) (kN/m®) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1~ 2 - - - - - - - - 24 ~ 25 - - 9333 | 1.00 - - 9.83 1.95
2 ~ 3 - - - - - - - -
3 ~ 4 - - - - - - - -
4 ~ 5 - - - - - - - -
5 ~ 6 - - - - - - - -
6 ~ 7 - - - - - - - -
7 ~ 8 - - - - - - - -
8 ~ 9 - - - - - - - -
9 ~ 10 - - - - - - - -
10 ~ 11 - - - - - - - -
11~ 12 - - - - - - - -
12 ~ 13 - - - - - - - -
13 ~ 14 - - - - - - - -
14 ~ 15 | 106.13 | 100 | 10000 | 1.00 - - 1035 | 205
15 ~ 16 - - - - - - - -
16 ~ 17 - - - - - - - -
17 ~ 18 - - - - - - - -
18 ~ 19 - - - - - - - -
19 ~ 20 - - - - - - - -
20 ~ 21 - - - - - - - -
21 ~ 22 - - - - - - - -
22 ~ 23 - - - - - - - -
23 ~ 24 - - 9264 | 1.00 - - 1017 | 201

i
=

1)



